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Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q.1 Six friends Adam, Beth. Carl, Diana, Eric, and Fiona are sitting around a circular table facing the center. Beth sits to the
immediate right of Carl. Adam is second to the right of Beth. Fiona and Adam are neighbours. Diana is not sitting next
to Eric or Fiona. Who is sitting to the immediate right of Eric?

Ans 1. Carl
X< 2. Beth
X 3. Adam

A 4. Fiona

Q2 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

PQRT, STUW, VWXZ, YZAC, ?
Ans X 1. BMTD

¢ 2. BCDF

X 3. BRQC

X 4. AMRQ

Q3 Which of the following numbers will replace the question mark (?) in the given series?

62, 67, 74, 83,94, 107, 7
Ans X' 1. 121

X2 120

X3 112

4. 122
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Q.4

Ans

Select the figure that will replace the question mark (?) in the following figure series.

x 2.

e
s
*

Q.5

Ans

In the following question below are given some statements followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the

conclusions and then decide which of the given conclusion (s) logically follows the given statements.

Statements:

I. No land is cup.

II. Some spoon are land.
Conclusions:

I. All cup are land.

II. All cup are spoon.

III. Some cup are not land.

X 1. Only conclusion IT follows

X 2. Neither conclusion follows

X 3. Both conclusions I and III follows

« 4. Only conclusion IIT follows
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Q.6

Which of the following letter cluster will replace the blank () in the given series?
IAL. JAK, KAT. LAI

Ans X' 1. JAM

X 2. HAM

< 3. MAT

« 4 MAH

Q7 Which two numbers should be interchanged to make the given equation correct?

306x11+3-10+4=49
Ans X1 10 and 4

2 dand 11

X 3. 49 and 36

X4 11 and 3

Q8  1In a certain code language. if TOGETHER is coded as 'RPEFRICS'. TOMORROW is coded as 'RPKPPSMX', then
what will ' BATHROOM' be coded as?

Ans X 1. WLEPSJAS
X 2. NMPPIRBZ
X 3. RHSPLRWM
« 4 ZBRIPPMN

Q9 1n the following question, select the missing number from the given series.

5,19, 75,299, 1195, ?
Ans X 1. 4750

X 2. 4785

& 3. 4779

X 4. 4781

Q10 n the following question, select the related letter pair from the given alternatives.

DHKL : CGJK :: ?
Ans X 1. NUWX : RUCN
X 2. ZUZY : ABOD
« 3 FXYI: EWXH
X 4 TXZW : RULM

Q1 By interchanging the given two signs which of the following equation will be correct?

* and +

Ans X 1. 9x3-4+2+5=4
V2 11+12x6+8-10=20
X3 5+6x2—-4=+1=10
X4 70+3=xT7+50-10=80
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Q12 Two positions of a dice are given below. What will come on the face opposite to the face containing ‘K’ on it?

2 Q
X3V
X4 R

Q13 Select the correct mirror image of the given figure when the mirror MN is placed to the right side of the figure.

W

kY

10

(AR EEEEERE LA

I B R R Y

Ans

—
O

T
O

O
_|

~[0.L

Q.14 Ina certain code language, ‘MUSCLE’ is coded as ‘NTTBMD’. What is the code for ‘PLANET” in that code language?
Ans % 1. QKBMGS

« 2. QKBMFS

2 3. QLBMGS

X 4 QLCMGS
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Q.15

Arrange the given words in the sequence in which they occur in the dictionary.

1. Consume

I

. Consumer

. Consult

Ll

4. Contact

Lh

. Contain
Ans 1. 3.1.2.54

2 3,1.24.5
<3 1,2.453
X4 1,2354

Q16 Select the figure that will replace the question mark (?) in the following figure series.

DIBIBIB

(=]

Ans
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Q17 six friends Aarav, Bhavya, Charul, Devansh. Ekta, and Faizan are seated at a circular table facing each other. Bhavva is

to the immediate left of Faizan, and Aarav is second to the left of Bhavya. Charul is second to the left of Devansh. Who
is the immediate neighbour of both Bhavya and Aarav?

Ans 1. Devansh
X 2. Aarav
X 3. Faizan
X 4. Bhavya

Q.18  Pointing towards a photo of a man, Rakhi said, “He is the father of my grandfather’s son”. How is the man related to
Rakhi?
Ans 1. Grandfather
X 2. Father
X 3. Husband
X 4. Brother
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Q19 [f 3 mirror is placed on the line AB, then out of the option figures which figure will be the right

image of the question figure?

A

Ans

& 1.

GERE

Q20 1p the following question, select the related letters from the given alternatives.

HXP:CSK:: ANT:?
Ans 21 VIO

X2 7ZXX

X 3. DPP

X 4. PPO
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Section : Part-B-General Knowledge and General awareness

Q1 In which Indian state is Kambala, the traditional buffalo race. conducted during the winter months to celebrate the

harvest season?

Ans X 1. Telangana
+ 2. Karnataka
X 3. Kerala
# 4. Tamil Nadu

Q2 Brahmotsavam festival is historically native to which of the following states?

Ans & 1. Andhra Pradesh
X 2. Kerala
X 3. Karnataka
# 4. Tamil Nadu

Q3 In which month, Women's Reservation Bill 2023 [The Constitution (One Hundred Twenty-Eighth Amendment) Bill.
2023] was introduced in Lok Sabha in 20237

Ans X 1. May
« 2. September
< 3. March
X 4. July

Q4 Who wrote the original handwritten version of the Indian Constitution?

Ans 2 1. B.N.Rau
+ 2. Prem Behari Narain Raizada
X 3. BR. Ambedkar
X 4. Kailash Nath Katju

Q.5 The concept of "judicial review" in India allows the judiciary to review and strike down laws that are found to be:
Ans X 1. Passed by the Parliament

v 2. In violation of fundamental rights

X 3. Supported by a two-thirds majority in the State Legislature

X 4. Supported by the President

Q6  The National Rural Employment Guarantee Act (NREGA) aims to provide a guarantee of how many days of
employment per vear to rural households in India?
Ans 1. 100
X2 50
# 3. 1000
X4 75
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Q.7

After the first five-year Plan of India, two subsequent five-year plans were formulated till
Ans X1 1962
< 2. 1963
< 31964
41965

Q.8 In Football adirect is awarded if a player commits any of the following offences against an opponent in a manner
considered by the referee to be careless, reckless or using excessive force:

Ans X 1. head kick
X 2. court kick
+ 3 free kick
X 4. hat trick

Q9  Sonal Mansingh is mainly associated with which dance style?

A X Bharatnatyam and Sattriya
« 2. Odissi and Bharatnatyam
X 3. Odissi and Kathak

X 4. Bharatnatyam and Kathak

Q10 In India, there are how many steel-manufacturing Central Public Sector Enterprises (CPSEs) under the Ministry of
Steel?

Ans 1. Two
X 2. Five
X 3. Four
# 4. Three

Q11 Which of the following statements regarding money is correct?
I. Money supply is a stock variable.

II. The total stock of money in circulation among the public at a particular point of time is called money supply.
Ans 1. BothIandII

X 2. Only I

X3 OnlyI

X 4. Neither I nor IT

Q12 1n which year was the first War of Independence taken place in India?

Ans X 1. 1557
« 2. 1857
X3 1757
X 4. 1657
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Q.13

Into how many ages is the prehistoric times in terms of technology divided?
Ans  X'1. Five

X 2. Six

+ 3. Three

X< 4. Four

Q.14 According to the 2011 Census of India, among the State/ UTs, the male and female literacy rate is highest in
Ans X 1. Goa

« 2. Kerala

X 3. Mizoram

X 4. Tamil Nadu

Q.15 Who has been chosen as the national icon to raise awareness about voting and educate voters for the upcoming 2024
elections in India?

Ans  X'1. MS Dhoni
X 2. Amitabh Bachchan
X 3. Aamir Khan
+ 4 Sachin Tendulkar

Q16 Which of the following pair of sports persons — sports associated with is correct?

I. Manu Bhaker — Shooting

II. Tajinderpal Singh Toor — Shotput
Ans X 1. Neither I nor II

X2 OnlyI

+ 3. BothIand II

X 4. Only I

Q17 Renowned violinist - trained in Carnatic music as well as Western classical music.

Ans X 1. Ravi Shankar
X 2. Ustad Zakir Hussain
X 3. Ustad Bismillah Khan
« 4. Lakshminarayana Subramaniam

Q.18 In August 2023, Former Indian cricketer will become a “national icon™ of the Election Commission (EC)

to spread awareness regarding the need for greater voter participation in the electoral process.

Ans 1. Sachin Tendulkar
X 2. Sunil Gavaskar
X 3. Kapil Dev

X 4. M S Dhoni
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Q19 Which dance style was kept alive by the Devadasis?
Ans X' 1. Qdissi
+ 2. Bharatnatyam

X 3. Kathakali
X 4. Kuchipudi

Q20 yWhich sport is played by the Indian sportsperson Sania Mirza?

Ans 1. Table Tennis

« 2. Lawn Tennis
X 3. Hockey

# 4. Badminton

Section : Part-C-Elementary Mathematics

Q1 The difference between cost price and selling price of a table is Rs. 224. If loss percentage is 40 percent, then what is

the selling price?
Ans 1. Rs. 336
X 2. Rs. 352
/< 3. Rs. 306
X 4 Rs. 406

Q2 YWhat is the value of [21 + 14 — 7 x (91 = 7 — 12) + 42]?
Ans X180

X2 50

« 3. 70

X460

What is the value of 0402 ?

Q.3

Ans

X 1.

x 2.

3.

X 4.

e L ko Oy o] -

Q4 Umesh sells an article and earns a profit of 75 percent. What will be the ratio of cost price and selling price?
Ans 1. 4:7

X28:5

X3 5:8

X4 7:4
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Q.5  Hiten marks his pen at Rs. 15625 and after allowing discount of 20 percent, he still earns 25 percent profit. What is the

cost price of the pen?
Ans 1. Rs. 10000
X 2. Rs. 11800
X 3. Rs. 10500
X 4. Rs. 12500

Q.6 Y and Z together can complete a work in 20 days. Z alone can complete the same work in 60 days. In how many days

will ¥ alone complete the same work?
Ans X 1. 35 days
X 2. 42 days
« 3. 30 days
X 4. 37 days

Q7 If the perimeter of a rhombus is 200 cm and one of its diagonal is 80 cm, then what is the area of the rhombus?

Ams 12400 cm?
X2 1620 cm?
73 2250 cm?
X 41600 cm?

Q8 Find the rate of discount when the marked price is ¥ 2280 and the selling price is ¥ 1482.

Ans 1. 35%
X 2. 40%
X 3. 25%
X 4. 33%

Q9 YWhat is the average of all the multiples of 13 from 70 to 1447

Ans X 1. 105
X2 111.5
« 3 110.5
X 4 109

Q.10 Two trains are moving in the same direction at the speed of 34 km/hr and 86 kmvhr, their lengths are 300 metres and 480
metres respectively. What will be the time taken by faster train to cross the slower train?
Ans 1. 54 seconds
X 2. 48 seconds
X 3. 60 seconds
X 4. 36 seconds
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Q.11 Chetan alone can do a work in 6 days working 5 hours a day. Rashmi alone can do the same work in 2 days working 10

hours a day. How many hours do they need to work together in a day to complete the same work in 4 days?
Ans X' 1. 2.5 hours
A 2. 5 hours
X 3. 4 hours
« 4 3 hours

Q12 0.25%(0.25+0.25)
(0.25x0.25)x0.25 ,

What is the value of
Ans r 4

X2 04

3. 16

X4 1.6

Q13 If the ratio of the ages of A and B is 3:4 and the sum of their ages is 28, then find the age of B.
Ans 1 16 years

X 2. 18 vears

X 3. 17 years

X 4. 14 years

Q14 Find the HCF of 31 and 73.
Ans X1.3

2 1

X307

X4 11

Q15 Average of 50 observations was calculated as 23. Three observations 19, 33 and 66 were wrongly taken as 30, 38 and

69. What will be the correct average?
Ans X1 1992

X2 2342

3. 22,62

X4 21.78

Q.16 The ratio of three numbers is 9 : 8 : 7. If the sum of the three numbers is 480, then what is the largest number among the

three numbers?

Ans X 1170
¥ 2. 180
X 3. 160
X 4. 140
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Q17 A certain sum becomes 5 times of itself in 8 years at a rate of simple interest. In 24 years it will become how many

times of itself at the same rate of simple interest?
Ans X111
2 13
<3 12
<410

Q18 7504 of 1256 is
Ans X 1. 756

2 942

X 3. 876

X 4. 848

Q.19 Weight of Al is six times of A2 and A2’s weight is 50 percent more than that of A3. If the average weight of all three is
299 kgs, then what is the weight of A1?

Ans X 1. 897 kg
X 2. 1544 kg
3 702 kg
X4 979 kg

Q.20 On a sum, simple interest at the annual rate of 10 percent for 7 years is Rs. 21630. What will be the compound interest
on the same sum at the annual rate of 20 percent (compounding annually) for 2 years?

Ans X 1. Rs. 12570
+ 2. Rs. 13596
X 3. Rs. 12788
< 4. Rs. 13484

Section : Part-D-English

Q1 Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence

meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

She opened her mouth to say something, (but as she does she realizes that she) couldn't find any words to express her

surprise.
Ans 1. but when she does she realises that she
X 2. but when she didn't she realised that she
+ 3. but when she did she realized that she

X 4. No correction required
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Q.2 Inthe following question, out of the given four alternatives, select the alternative which best expresses the meaning of

the Idiom/Phrase.
To throw cold water on

Ans X 1. To elevate someone’s plans

X 2. To awake someone
+ 3. To be discouraging or unenthusiastic about something

# 4. To make someone see the truth

@3 Select the most appropriate word to fill in the blank.

The markets experienced a at the news of the sale.

Ans 1. meltdown
X 2. melt
X 3. melting

X 4. melting down

Q4 Choose the most appropriate antonym of the underlined word.

Figurative language employs words with meanings not strictly literal, but varying from their ordinary definitions.
Ans X 1. descriptive
« 2. literal
X 3. fanciful
X 4. flowery

Q5 Select the incorrectly spelt word from the given sentence.

A vivacous and attractive blonde, Mary had no shortage of male admirers.
Ans X 1. admirers

+ 2. yivacous

X 3. attractive

X 4. shortage

Q.6 Improve the underlined part of the sentence. Choose “No improvement’ as an answer if the sentence is grammatically

correct.

The pasta is served with a meat sauce.

Ans X' 1. i3 gerves
< 2. is serve
& 3. are served

« 4. No improvement
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Q.7 Identify the segment that contains a grammatical error. If there is no error, select No error’.

After I shut the door and started back to the living room, / he yelled something at me, / but I couldn't strictly hear him.
Ans X 1. No error
X 2. he yelled something at me,
+ 3. but I couldn't strictly hear him.

X 4. After I shut the door and started back to the living room,

Q8 Select the sentence with no spelling errors.

Ans X 1. These structures have come to play an importent role.
X 2. These structres have come to play an important role.
« 3. These structures have come to play an important role.
X 4. These strucures have come to play an important role.

Q9 Choose the word that is opposite in meaning to the given word.
Accessible

Ans X 1. Furnished
« 2. Lacking
X 3. Popular
X 4. Budget

Q.10

Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.
It’s so stressful to think that what you have build with hard work is at risk .

Ans 1 think that what you have build

X 2. No error

X 3. 1t’s so stressful to

X 4. with hard work is at risk.

Q11 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.

Why are you calling her the much amazing woman?

Ans X 1. amazing woman?

X 2. No error
X 3. Why are you calling
« 4 her the much
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Q.12

Choose the word that means the same as the given word.

Gullibly

Ans X 1. Immunity
X 2. Fraternity
« 3. Nalve
X 4. Critical

Q13 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

The matter is very serious and delicate. So, I urge you to behave or speak carefully to avoid causing problem.

Ans 1. In the dark
X 2. Cut corners

« 3. To tread carefully
& 4. Beat around the bush

Q14 Select the most appropriate option for the given blank.

They  astrike when the party members refused their plea.
Ans X' 1. told

X 2. behold

X 3. fallen

+ 4 called

Q.15 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is grammatically
correct.

Emily has just come homes from school.
Ans X 1. No improvement
+ 2. come home
X 3. came homely

X 4. came homes
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Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Government of India stands committed to (1)

climate change. The Government is implementing several
programmes and (2)

 including the National Action Plan on Climate Change (NAPCC), which (3)
missions in specific areas of solar energy, energy efficiency, water, sustainable agriculture, Himalayan ecosystem,
sustainable habitat, health, green India and (4) knowledge for climate change. The NAPCC provides an
overarching (5) for all climate actions.

SubQuestion No : 16

Q16 Select the most appropriate option for blank(1)
Ans X 1. replicating
X 2. marking
« 3. combating
X 4. insinuating
Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.
Government of India stands committed to (1) climate change. The Government is implementing several
programmes and (2) including the National Action Plan on Climate Change (NAPCC), which (3)
missions in specific areas of solar energy. energy efficiency, water, sustainable agriculture, Himalayan ecosystem,
sustainable habitat, health, green India and (4) knowledge for climate change. The NAPCC provides an
overarching (5) for all climate actions.
SubQuestion No : 17
Q17 Select the most appropriate option for blank(2)
Ans X 1. tokens
X 2. themes

+ 3. schemes

X 4. subjects

Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Government of India stands committed to (1)

climate change. The Government is implementing several
programmes and (2)

 including the National Action Plan on Climate Change (NAPCC), which (3)
missions in specific areas of solar energy. energy efficiency, water, sustainable agriculture, Himalayan ecosystem,
sustainable habitat, health, green India and (4) knowledge for climate change. The NAPCC provides an
overarching (5) for all climate actions.

SubQuestion No : 18

Q18 Select the most appropriate option for blank(3)

Ans < 1. comprise

«" 2. comprises
< 3. comprised
< 4. comprising
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Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Government of India stands committed to (1)

climate change. The Government is implementing several
programmes and (2)

including the WNational Action Plan on Climate Change (NAPCC), which (3)

missions in specific areas of solar energy, energy efficiency, water, sustainable agriculture, Himalayan ecosystem,
sustainable habitat, health, green India and (4)

knowledge for climate change. The NAPCC provides an
overarching (5) for all climate actions.

SubQuestion No : 19
Q19 Select the most appropriate option for blank(4)
Ans X 1. stubborn

X 2. nostalgic

« 3. strategic

X 4. manipulative

Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Government of India stands committed to (1)

climate change. The Government is implementing several
programmes and (2)

 including the National Action Plan on Climate Change (NAPCC), which (3)
missions in specific areas of solar energy, energy efficiency, water, sustainable agriculture, Himalayan ecosystem,
sustainable habitat, health, green India and (4) knowledge for climate change. The NAPCC provides an
overarching (5) for all climate actions.

SubQuestion No : 20

Q20 gelect the most appropriate option for blank(5)
Ans X 1. pretext
/< 2. Stature

+ 3. framework

X 4. sojourn

Section : Part-D-Hindi

U Rr=fafRd ved &, IR fwed # ¥, 37 RFew &1 wa A BT v gy F wd 7 arer Ry
2l
STl e

Ans

X . HFT FT AT

v 2 f&dr & T SET EIY Fe
X 3. TTT FAT

X4 wfass Fr mer
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Q2 EfRfRT veT &, 9K Beedt & ¥, 37 Beew 7 T =¥ S Reg = & B @@ o= aen
ICET==ll
Ty & B & 20 £ e 3w ¥ e md oo F O ST 99T B, 308 o [TAT ST
HereT T

A v areafas

* feu e e H @il e &1 fadm W J1d B
g3 UG & 7T Yedh TR

Ans x 1. iﬂ_\g
v 2 [Fged
X3 grad

X4 8

U Pgfaied vy ¥ RugOR e # 3, 39 fdee o1 9g7 5¢ off 38 78 geT & o &) 949y = 3§ sad
FRAT gl

U i@ ST
Ao T B
v 2. D] SRR I
X3 3 AR
X4 el I s

e R e § Y 9die Weg J1d S|
Ans K1- a.l_'l.ﬁa
v gag

X 3. Y
X4 gled

@ Ruu e § 9 Tad ad 3 S

U ot sifen o ged Sfiae €
Ans > 1. I\Iﬂaﬂ

v 2. guft

X 3. giferg

x4 gad
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7 RufifEd vy 8 OR Aeedl ¥ 8 39 [Geed &1 98+ &3 o Rad R & U 98! 2sg arer fadbed gl
T AR Yo IdIE] Bl G UaH g ay aRal a7 Yerar Hdl ¢

X1 A
X 2 I
“?3'@?4]%
X4 BRI

Ans

Q8 AT v &, IR et F ¥, 37 RBFeT &1 994 &Y 1 Rod T & e ggr oifeer &
arer e

v gEad
X2 °a

X 3. Eﬂ'QT

X 4 TR

Ans

Q.9

frofiead vy & IR Geeal 7§ 9, 39 fdhed &1 999 &3 ol SIFd | 3T 70 Wsg & 099 U &1 Uel f[ddbed g |
gH [T Uraue| SR (FR) & 9d BRI HAl dliey|

A1 el
X2 DY
X3 oo
« 4. dhde

Ans

Q.10

f&T 1Y a1 o Ifed uaigare Wes BT 99+ SR Rad RIF &I Ufd H1 |
G (@ifhep) aTal § R 2|

X 1. HRER

X2 o9

v 5 ik

X 4. SR

Ans

U R AT T F W@ o F BT O a3 AT A
TH I HEIIET FIAT 1T

v . TTER

X2 qEIT

X 3. JEIT

X 4 OTEY

Ans
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Ans
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Comprehension:

e feu T i # S W IS G U §, Udd Jwia & U IR fddbed 4T T § | 99 TN Sl HFYdd U
3R 9R fd@edl | U galaw 3R arel f[ddbed I |

o G BT ATYRYT HIRAH 8, o [T Pre M w@Rf iR e 31 Hoal el &2 Ul g | 8 (T
BICT U BITT AT bl R B & [T 4 DI TGl Bicht © | YD 9 H, SId TR BT faH 1 doit I gl
WE MR P UHA WS B Sl &, U0 I H gH axgell & 9gd §U e & HRUI AAS o Bt
HIGRIl gIdl 8| Ugd THy H, Uds w1 v H 41 151 faf-ra quiedl @t siran o, f5eH el ol ¥l U avg &
_ Hudaxgurd g o o grdife, o 39 sy GUR H U avg a1 9 &l @ied & [ dhad oF Bl
IRl gIdl 8| 4 &1 Hed [ Ufd G- ggar o el 8, difld gHRIET-Ugddgd gl gl 49 &
He H i, SUHI, fafwy, faarur, giduii-ie org 3fife & &7 H 95 TR W 9ig g3 o | I8 311, ASHIR, 3RTH-
T, amR T R e S RyRu g aga i yrar 81 afe 9daH 9ug & uResd & <@l e |l 59
a1d ¥ IS Teg 81 ¢ 3, forad urd e &f i g, § TR # aiféfd W 11 9 3

SubQuestion No : 16

O Rue e W™ eR | Sigd &1 Hedd el HL gl g
ANS X1 arpd

v 2. Q=g

X 3. 3

X 4. 3fRMi=gul
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Comprehension:

e feu T 1Y # S W IS G U E, Udd Jwha & U IR fdded GU T § | 99 TN Sl eHFYdd UG
3R 9R fq@edl H U galaw 3R arel f[ddbed I |

o TG DI ATYRYT HMIRIH 8, o [T e @R iR TG &1 Hoal -Tel &2 Ul g | 8 AT
BICT U BITT AT bl IR B & [T 4 DI TGl Bl § | YD 9 H, SId FRIAT BT [aH 1 doit I gl
WE MR RPR NI WS B HI Il &, U I90 H g axgell & 9gd 5T e & HRUI AAF o Bt
IRl gIdl ¢ | Ugd THy H, Uds w1 v H o1 51 faf-ra quiedl @t siran o, f5H el ol ¥l U avg &
_ Hudaxg urd g o o grdife, o 39 sy GUR W U avg a1 9 &l @ie & Y dhad o Bl
HIGRIl gIdl 8| 4 &1 Hed [ Uld G- ggar o el 8, diild gHRIET-UgAdgd gl gl 49 &
Hed | IdIeH, SUHI, faf i, fadul, ardeie Tora #fe & & o 99 R R 9fE g3 8| I8 3/, AR, HFTH-
T, amR T R e S RyRu g agd il Myrar 81 afe 9dae 9ug & uResd & <@l S |l 59
a1d ¥ IS Teg 81 ¢ 3, forad urd e &f i g, § TR # aiféfd W 11 9 3

SubQuestion No : 17

U7 i T ¥, OIT ST BT [T doll Y EIET 8 IR e Bls TN TPIa Bl BRET S
Ans x 1. \?rl:la@-[
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Adda247

Comprehension:
- U T TR W 58 ek 31 G U 8, W Wi & U 9R faded [GU T § | 5 TR & HFYdd Ue
3R 9R fq@edl H U galaw 3R arel f[ddbed I |

o TG DI ATYRYT HMIRIH 8, o [T e @R iR TG &1 Hoal -Tel &2 Ul g | 8 AT
BICT U BITT AT bl IR B & [T 4 DI TGl Bl § | YD 9 H, SId FRIAT BT [aH 1 doit I gl
WE MR RPR NI WS B HI Il &, U I90 H g axgell & 9gd 5T e & HRUI AAF o Bt
IRl gIdl ¢ | Ugd THy H, Uds w1 v H o1 51 faf-ra quiedl @t siran o, f5H el ol ¥l U avg &

_ Tl axg w8l Sl o greifds, ofF $9 Sfie AR W Udid a¥d A1 9ISl &l WiieH & o dad o7 3
IRl gIdl 8| o &1 Hed [ Uid G- ggar o el 8, diid gARIEA-UgAdgd Il 9 &
Hed | IdIeH, SUHI, faf i, fadul, ardeie Tora #fe & & o 99 R R 9fE g3 8| I8 3/, AR, HFTH-
T, amR T R et S RyRudegd i Myrar 21 afe 3dae 9ug & uRed & <’ e |l 58
a1d ¥ IS Teg 81 ¢ 3, forad urd e &f i g, § TR # aiféfd W 11 9 3

SubQuestion No : 18

R Rt BT e e RN R e i o 7 e} avg e & Sl ot
Ans v aaa

X2 |y
X5 O
x4 wlied
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Adda247

Comprehension:

- U T TR W 58 ek 31 G U 8, W Wi & U 9R faded [GU T § | 5 TR & HFYdd Ue
3R 9R fq@edl H U galaw 3R arel f[ddbed I |

o TG DI ATYRYT HMIRIH 8, o [T e @R iR TG &1 Hoal -Tel &2 Ul g | 8 AT
BICT U BITT AT bl IR B & [T 4 DI TGl Bl § | YD 9 H, SId FRIAT BT [aH 1 doit I gl
WE MR RPR NI WS B HI Il &, U I90 H g axgell & 9gd 5T e & HRUI AAF o Bt
IRl gIdl ¢ | Ugd THy H, Uds w1 v H o1 51 faf-ra quiedl @t siran o, f5H el ol ¥l U avg &

_ Tl axg w8l Sl o greifds, ofF $9 Sfie AR W Udid a¥d A1 9ISl &l WiieH & o dad o7 3
IRl gIdl 8| o &1 Hed [ Uid G- ggar o el 8, diid gARIEA-UgAdgd Il 9 &
Hed | IdIeH, SUHI, faf i, fadul, ardeie Tora #fe & & o 99 R R 9fE g3 8| I8 3/, AR, HFTH-
T, amR T R et S RyRudegd i Myrar 21 afe 3dae 9ug & uRed & <’ e |l 58
a1d ¥ IS Teg 781 ¢ 3, forad urd oF &f 2t g, 9 § TR # 3iféfd W 11 9 3 |

SubQuestion No : 19
o P e & Uidfe S¢ar o k81 8, Fifh TARIWEA-Ug1dgd BTl gl
Ans x 1. ﬁ@m

< 2. He M

X3 ghR

X 4 TE
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Comprehension:

- U T TR W 58 ek 31 G 7Y 8, W W & U 9R faded ST U § | 5 TR & HFYdd Ue
3R 9R fq@edl H U galaw 3R are f[ddbed I |

o TG I ATYRYT SIS 8, o [T Bis M W@RI AR TG &1 Hoal el &2 Ul | 8 AT
BICT U BITT ARG bl IR B & [T 4 DI TG Bl o | YD 0 H, SId FRIAT BT [dH 1 doit U gl
WEE R RBR NI ISR BI Sl &, U I90 H g4 axgell & 9gd §U 9 & HRUI AP o Bt
IRl gIdl 8 | Ugd THy H, Udh w1 waa # o1 o1 fafre quedi @t siran o1, f5e# el o1 4l U avg &

_ W Rl o I ol STl ot gIeifds, o) $H STYFP YUR 1 U a¥d a1 91 &l Wil o [T dhad Y Bl
IRl gIdl 8| o &1 Hed fa Uid i gar s el 8, Aifld gARIET-UgAdgd Il 9 &
Hed H IdIeH, SUHI, i, [GaRul, Qraei-as AoRa A1 & & H 95 ¥R W 3iG §5 o | I8 31, AR, SFH-
T, I e &R o & MR Aaga_ yfie Fvmar g1 3 a9 999 & uResg & <@l o df 39
a1d ¥ IS Teg el ¢ 3, forads urd oF 3f i 8, 9 § TR # 3iféfd Wy 11 9 3 |

SubQuestion No : 20
2 g5 g, AR, SRH-FH, GHR HE ER ofe S ReRu A gd il R 2|
Ans X 1 golTd

v 2. HgaqUl

X3 HY

X4 fqumad
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